



Name: _____

Datum: _____ Ergebnis: _____

$$(-5)^3 - (-6) =$$

$$(-4)^2 - (-3) =$$

$$(-9)^2 + (-8) =$$

$$3^2 - 9 =$$

$$3^3 + 9 =$$

$$(-9)^0 + (-6) =$$

$$(-6) - (-2) =$$

$$(-8)^2 + 10 =$$

$$(-4)^3 + (-4) =$$

$$10^3 - 1 =$$

$$7 - 7 =$$

$$(-6)^2 - 7 =$$

$$4^2 - (-4) =$$

$$(-5)^0 - 10 =$$

$$(-9)^3 - (-2) =$$

$$(-7) - (-6) =$$

$$2^3 - (-6) =$$

$$(-3)^2 - (-6) =$$

$$(-6)^0 - (-7) =$$

$$5^3 - 8 =$$



Name: _____

Datum: _____ Ergebnis: _____

$$(-5)^3 - (-6) = (-119)$$

$$(-4)^2 - (-3) = 19$$

$$(-9)^2 + (-8) = 73$$

$$3^2 - 9 = 0$$

$$3^3 + 9 = 36$$

$$(-9)^0 + (-6) = (-5)$$

$$(-6) - (-2) = (-4)$$

$$(-8)^2 + 10 = 74$$

$$(-4)^3 + (-4) = (-68)$$

$$10^3 - 1 = 999$$

$$7 - 7 = 0$$

$$(-6)^2 - 7 = 29$$

$$4^2 - (-4) = 20$$

$$(-5)^0 - 10 = (-9)$$

$$(-9)^3 - (-2) = (-727)$$

$$(-7) - (-6) = (-1)$$

$$2^3 - (-6) = 14$$

$$(-3)^2 - (-6) = 15$$

$$(-6)^0 - (-7) = 8$$

$$5^3 - 8 = 117$$